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CBT Practice test model answers

Accounts Preparation I (API)

Practice assessment 2
Section 1

Task 1.1

[image: image2.png]Extract from non-current assets register

Description Acaquisition Funding
rial Number Date method

[Office equipment

[Laptop computer

Jv2oto a0 740.00 Cash

[Vear end 311036 4800 592.00)

[Vearena 311037 14800 240

Photocopier  Scanner 201206 | 890.00 Loan

[Vear end 311037 7500 7200

[Motor Vehicles

[201ire van

[20 e van lotoans | 944000 Partexchange

[Year end 31/03X8 235000 7,080.00)

[Vear end 310306 1,700 531000

[Vearena 311037 132750 398250

1.4 e car

e orone | 440000 Partexchange

[Vearena 311035 110000 330000

[Year end 31/03/X6 825.00 2,475.00]

[Vearena 311037 il 170000 | 23027

-





Task 1.2
[image: image3.png][Machinery at cost

8500 |Machinery accumulated depreciation

6880)

[Machinery at cost

1450

[Income statement account

270)

Al A]A]

8600

8600|

7y

vi[v|[v]

v

[Balance bid 8370|Machinery at cost 2080[q]
[Balance cia 710 4
[«
9080 9080[4]

(c) Calculate the total cost of the new machine.

£ [10530

(d) What will be the carrying amount of the new machine as at 31 March 20X8?

£ [e218






Section 2

Task 2.1
[image: image4.png](a) Complete the following statements:

On 0110475 s rent rconane accountshows a [GeG [l saane of £ [i50

On 3110307, the rent receivable account shows an adjustment for

e Kl o= [

(b) Calculate the rent receivable for the year ended 31/03/X7.

£ [1z800

The bank summary for the year shows payments for general expenses of £21,550.

(c) Update the general expenses account for this, showing clearly the balance to be carried down.

General expenses

[Bank 21650 Balance bid 850]

[Batance cia 20700)

vI[vi[¥]
rrNITS]

21650 21550)

v
ry





Task 2.1, continued
[image: image5.png](d) Complete the following statements:

Adustng for i i ine ol generalexpenses foure rantered o e ncome statement o e year.

The adustmentis £ [10

Generaexpenses wishowas 2 inthe income statement accountin e gneral edger.





Task 2.2

[image: image6.png]Extract from the trial balance
as at 31 March 20X7:

Ledger

= “Trial balance

[Account £

or £cr

o]

[¥] Creaning soss 540 520

[¥] Discounts stowea )

(5] Disposat ot non-curentssset w29
5] Drawngs tes00  1es00

(5] Frepaia spenees )

(5] Frepaiaincoms ]
(%] Sun meame 2155
(5] Terscommunicaton costs 950

v vt 200





Task 2.3
[image: image7.png](a) Selling expenses of £834 have been charged to the sales account in error. The other side of the entry.
was correct.

Journal

[Seliing expenses 834,

[Sales 834

(b) Fuel costing £72 was purchased using a business debit card and correctly recorded in the travel
‘expenses account. No other entry has been made. Ignore VAT.

Journal

[suspense 72|
[Bank 72|

(c) The allowance for doubtful debts needs to be adjusted to 5% of the outstanding trade receivables. The
‘sales ledger control account has a balance of £16,900 at the year end. The balance on the allowance
for doubtful debts account is £750.

Journal

[Allowance for doubtiul debts adjustment 9|

[Allowance for doubtiul debts |





Task 2.3 (continued)
[image: image8.png](d) The figures from the columns of the sales day book for 25 March 20X7 have been totalled correctly as.
follows:

[Sales column £1700)
[VAT column 340
[Total column £2,040)

‘The amounts have been posted as follows:

[Crsales £1700)
[crvaT 2304
[Dr Sales ledger control account £2,040)
Journal

|vaT 304,
[suspense 304
VAT 340)

[suspense 340





Task 2.4
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Task 2.5
[image: image10.png]Use the following table to show the THREE adjustments required to the listing of sales ledger balances.

Amount

5 Add Deduct

Adjustment
lAdiustmentfor (2)

[Aqustmentfor (3)

[Aqustmentfor (4)





Task 2.6
[image: image11.png](a) Which of these statements is true? Choose ONE:

The weighted average cost method of inventory valuation is the only method acceptable under
accounting standards.

Marketing costs may be included in the cost of inventory.

Inventories may include raw materials purchased for making into products for sale.

Inventory is valued at the higher of cost and net realisable value

Abusiness has a financial year end of 31 March. In September 20X6, it renews its insurance premiums for
the twelve months ended 30 September 20X7 with a single payment from the bank account.

The accountant splits the amount equally between the financial years ended 31 March 20X7 and 20X8.

(b) Which ONE of the following accounting principles best explains why the accountant has done this?

Accruals

Consistency

Going concem

Prudence





